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Closed Book Quiz.  You have exactly 20 minutes. 
Consider the following AVL tree Tv:

1. Show the balance factor on each node of the AVL tree Tv.

 SHAPE  \* MERGEFORMAT 



2. Show the resulting AVL tree after inserting the nodes with key 14 and key 16 into Tv, respectively.
Insertion of key 14
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Insertion of key 16
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The tree is balanced.
3. Show the resulting AVL tree after deleting the node with key 17 from Tv.
We deleted key 17 by copying the key 15, which is the maximum of the left sub-tree of 17. Then we delete the key 15 by moving up the key 13.
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Right Rotation with 15 as pivot
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Left Rotation with 13 as pivot
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